Solve each equation by graphing.

15) 22+ 3y=—06
2r4+y=2

17) 2z +y=2
r—y=4

19) 2z 4+y=-2
r+3y=9

21) 0=—6z — 9y + 36
12 =6z — 3y

23) 2r—y=—1
0=—2z—y-3

25)3+y=—x
—d—bx=—y

27) —y+Tx=4
—y—34+Tr=0

y:%:r-i—?)

6) y=2r+2
y=—z—14

8) y=2z —4

1

y=5r+2

10) y=5z+4
y=%’r+1

12) z+4y=—12
2r+y=4

14) 6z +y=-3
r+y=2

16) 3z +2y=2
3r+2y=—6

18) z+2y=6
S —4dy =16

20) z—y=3
br+2y==8

22) —2y+x=4
2:—1’-—!—%9’

24) —2y=—4—=x
—2y=—"bx+4

26) 16=—x —4dy
—2r=—4—-4y

28) —d+y==x
r+2=—y



Solve each system by substitution.

— 3z
6xr—0

1)

—2x -0
2r—1

3)

Y
Y
Y
y

5) y=6r+4
y=—3xr—5

7)) y=3x+2
y=—3xr+8

9) y=2r-—3
y=—2x+9

11) y=06x—6
—3r—3y=—24

13) y=—
3z —6y=30

15) y=-5
3r+4y=—17

17) —2x+2y=18
y=Tr+15

19) y=—8z+19
—r+6y=16

21) 7I—2y:—7
y="7

23) x —by="T
2r+Ty=-20

25) —2r—y=-5
r—8y=—23

27) —6z+y=20
—3z—-3y=—18

29) 3z +y=9
2r+8y=—16

) y=x+5
y=—2r—4

4) y=—6x+3
y=06x+3

6) y=3zx+13
y=—2zr —22

8)y=—2xr-9
y=—"5r —21
10) y =Tz — 24
y=—3x+16
12) —z+3y=12
y==6xr+21
14) 6z —4y=—-8
y=—06x+2
16) Ta +2y=—17

y=>bxr+5

18) y=a+4
3r—4y=-19

20) y=—2r+8
—Tr—6y=-—8

22) z — 2y=—13
dr+2y =18

24) 3z — 4y =15
Tr+y=4

26) 6z +4y =16
—2r4y=-3

28) Tz +5y=—13
x—4y=—16

30) — bz —b5y=-20
—2z+4+y="7



